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Questions

Transmission permitting data to move only onward way at a time is called.

A television broadcast is an example of.

Internet surfing is an example of.

Communication between computer and keyboard involves.

Walkie Talkie is an example of communication mode.

A telephone Conversation is an an example of.

An arrangement is which data can be receive and simultaneously is called.

Which of the following scheme used by IBM

Which of the following coding schemes uses 16 bit code

In EBCDIC, How many bits to represent characters are used.

Uni code is a bit code.

BCD Code is a bit code.

How many character ASCII 7 bit code represent .

Character are represented by Uni code.

Data shown on display unit or played through audio is called.
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. Half Duplex
. Simplex

. Full duplex
. Start/Stop

. Full duplex
. Half duplex
. Simplex

. Mid Duplex

. Simplex mode

. Triplex

. Half Duplex mode
. Deplex mode

. Half Duplex
. Full Duplex

Simplex
None of these

Simple mode
Half Duplex Mode
Full Deplux mode
Parallel mode

Full - Duplex Transmission
Half - duplex Transmission
Simple Transmission
Duplex Transmission

Simplex

Full duplex
Semi Duplix
Half Duplex

BCD
EBCDIC
Uni code
ASCII

BCD
ASCII
EBCDIC
Uni Code

45536

55536
65536
75536

. Hard copy
. Soft copy
C.
D.

Shared copy
Photo copy






